1. um varE § Fraifas 9e@ ) =0 w8 SR 2

(1)
(2)
(3)
4)
(5)

TqEA
wfes
g
€ HSH (U9)
I TE <1 TR

2. IS WA AEecigs e T am e

(1)
(2)
r (3)
4)
(S)

3. TEUdH‘ Amie van feaw foed o e s @ 2

(1)
(2)
* (3)
- (4)
(5)

Sabul
JUFES UM TSh Ao
JUEEST STE Fre
AT SR Al
I G S =@

14 wLEd
14 S=a
14 feg=n
14 F&X
I TE S =T

4. 74t anfede som fRe o friifsa =t e 2

(1)
(2)
» (3)
(4)

(5)

2018
2022
2019
2021

I A& <A1 =R

5.  HerdnR @i AHE v T ¥ ?

(1)
« (2)
(3)
(4)
(5)

TNAVH / F4

20 4T ¥fd g5
35 4P % &=
25 I 94 TSR
75 y 9fd &

In a Gram Panchayat, what are the elected
members called ?

(1) Sarpanch

(2) Secretary

(3) Councillors

(4) Ward Members (Panch)
(5) Not attempted

‘National Rural Livelihood Mission’ has been
renamed as :

(1) Annapurna

(2) Pradhan Mantri Gram Sadak Yojana
(3) Pradhan Mantri Awaas Yojana

(4) Deendayal Antyodaya Yojana

(50 Not attempted

‘International Kite Festival’ is celebrated
every year in Gujarat on which day ?

(1)  14th February
(2) 14th January
(3) 14th December
(4) 14th November
(5) Not attempted

In which year was the 7t® Economic Census
conducted ?

(1) 2018
(2) 2022
(3) 2019
4) 2021

(5) Not attempted

What is the average salinity of an ocean ?
(1) 20 parts per thousand

(2) 35 parts per thousand

(3) 25 parts per thousand

(4) 75 parts per thousand

(5) Not attempted

¥ P12t & fe et / SPACE FOR ROUGH WORK Page 2



6. fmfafEd i § ymg ¥ sifm A TR HH & ? 6. Who among the following was the last Mughal

(1) 3FHR Emperor of India ?
v 2) SRR (1)  Akbar |
3)  WEIRY (2) Jahangir
( . ;ﬂgﬁ‘h‘{ (3) Bahadur Shah Zafar
@ ' (4) Aurangzeb
(5) I < =

(5) Not attempted

7. ﬂﬂ?ﬁaﬁﬁmﬁﬁﬁﬁmtﬁmm%?

7. How many Fundamental Rights are there in

1y A Indian Constitution ?
2 @ (1) Nine
e (3) ® (2) Three
@) W (3) Six
5) SR T (4) Seven

(5) Not attempted

8. hH-H T4/ HEwiEd T ' WA w1 qF’ F TH J

8. Which State/Union Territory is known as
i ST ST & 2 ‘Crown of India’ ?
* (1) WEW (1) Jammu & Kashmir
(2) U (2) Punjab
@) foceit (3) Delhi
@) feu=e wew (4) Himachal Pradesh
(5) W 7o o 9 (5) Not attempted

9. ufirg g (fafam smifes) S daR S ga oy | & The world of living organism is known as :

o) (1)  Biotic
2) v (2) Molec.ular
(3) Atomic
) T (4) Abiotic
@ N (5)  Not attempted
(5) SRS < =R
10. What percent of oxygen is present in the
10. ogHed ¥ SffedisH #1 $ fohan wfawd €2 atmosphere ?
‘(1) 21% () 21%
(2) 3% 2 3%
3) 71% @ 71%
(4 78% @) 78%
6 IR T T (5)  Not attempted
TNAVH / F4 T6 BT 5 10 2T / SPACE FOR ROUGH WORK
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11.

12, frefafes ¥ @ sF-9 wia 1 S S g g,

13.

(NABFID)
(3) RdH™ w2 % (SBI)
v (4) YR fimd & (RBI)
(5) WA T AR
FH wyH 4 s o SRR sifyeral & mieam 9
SIS Tk ST HI9 Ig=Tan 2
(1) ==
e (2) OWIE
3) TegEm
(4) SO
(5) W < R

14. 3% 7 Frafafaa § 4 frg 79 H1 AH-TI €7

frafafaa A fer @ vl Fewmfaa W= @1 |0

I= e ¥ ?

(1) TSI 3R e
*2) dam 3R el
(3) feeelt oiR wfmon
(@) fowr ol grEs
(5) I AE A 9w

S R T 1 Wi Hifa &1 frio s 2
(1) &< Q= fawm (DFS)

(2) VM b BR HEARAT IIRRZER U Taeraie

11.

12.

13.

14.

Which two States/Union Territories amoy,
the following share a common High Coury 5"

(1)
(2)
(3)
(4)
(5)

Rajasthan and Gujarat
Punjab and Haryana
Delhi and Haryana
Bihar and Jharkhand
Not attempted

Which one of the following is India’s Centra|
banking institution, which controls the
monetary policy of the Indian rupee ?

(1)

(2)

3)

(4)
(5)

The Department of Financial Services
(DFS)

National Bank for Financing
Infrastructure and Development
(NABFID)

State Bank of India (SBI)
Reserve Bank of India (RBI)
Not attempted

Who was the first Mauryan ruler who tried to
take his message to the people through
inscriptions ?

(1)
(2)
(3)
(4)
()

Chandragupta
Ashoka
Bindusara
Chanakya

Not attempted

Rouf Dance is a famous folk dance form of
which one of the following States ?

¢ (1) STUTRW
(1) Andhra Pradesh
(2) T
. (2) Rajasthan
ST TE HIER

3) A (3) Jammu & Kashmir
(4) ST T (4)  Uttar Pradesh

(5) ST I (5) Not attempted

TNAVH/F4 % Pt 3 foTu w2rmst / SPACE FOR ROUGH WORK Page 4



15. frefafad ® @ frg T &1 wr=EE W Hfdm g ?

o (1) TN
(2) hiCh
(3) &S
(4) w= afem

(5) IR TE I A

16. %Wwwﬁﬁmm?ﬁ@m%l

ST e g S SRR T
SrgEl frreran ST 2
(1) =, q@re
. (2) YgfAfEE,
3) =i, wgfatE
(4) o, =i

(5) TR & 2 =ed

17. @@Tﬁﬂaﬂgﬁaﬁﬁtﬁﬁ,ﬁ?ﬁﬁmi

ﬁmﬁiﬁaﬁﬁ'@m%ﬁ%aﬁwﬁaﬂa%?
(1) @
(2) 3MUE T
4 (3 W&
@4
(5) SR 7 &1 ed
1. ﬁﬂﬁf@ﬁﬁﬁaﬁﬂﬁa@ﬁawﬁqﬁ%7
e (1) TES
v (2) A F FIS
(3) HOS

15. Kalinga is the ancient
name of which
the following state ? e one of

(1)
(2)
(3)
(4)
(5)

16. Pure gold is not suitable for making jewellery.
It is alloyed with

Tamil Nadu
Karnataka
Bengal

Coastal Odisha

Not attempted

to

or

make it hard for making ornaments.

(1)
()
(3)
(4)
()

17. Short pla
having few branch

Silver, Copper
Aluminium, Copper
Silver, Aluminium
Zinc, Silver

Not attempted

nts with green and tender stem
es belong to the category

of :

(1)  Shrubs

(2) Climbers

(3) Herbs

(4) Trees

(5) Not attempted
18. dentify the non-biodegradable item from the

following :

(1) Wood

(2) Woollen clothes

(3) Paper

(4) Tin cans

(5) Not attempted
s s \AIAD W Page 5



19. W H /e € S e R H wAm
FrET At ¥ fareg wred/ e ¥
(1) & @ Hiored
(2) fedrenfam
e (3) VAT T HivERTY
(4) IRRH
(5) I TE < R

¥

19. The blood has which fight againg,

germs that may enter our body.
(1)  Red blood Carpuscles

(2) Haemoglobin

(3) White blood Carpuscles
(4) Platelets

(5) Not attempted

Page b

20. IR T Y@IE air gate w1 qy=nve fFrefafaa 20. Advance sunrise and delayed sunset is
N fFar FRU ST ®? ‘ because of the phenomenon of :
(1)  qof Tiafe aad (1) Total Internal Reflection
(2) WIS I AGHSHT e (2) Atmospheric Reflection of light
¢ (3) YW YHIH (fEeat yvm) (3)  Scattering of light (Tyndall Effect)
(4) USRI H aqugT.ﬁ-q 3T9ad (4) Atmospheric Refraction of light
(5) SR < =R (5) Not attempted
21. R ST wT H Uik g Frefafea ® 9 fwehty | 21, For the process of rusting of Iron, the presence
T} faemEar sTaEs & 2 of which is required ?
e (1) AR AT Al (1) Water and Oxygen both
(2) HIAdA (2)  Oil only
(3) ad S (3)  Water only
4) Hoc S (4) Oxygen only
(5) TR A AR (5) Not attempted
22. fAfafaa H q $17 9 =g 7 = 8 ? 22. Select the non-communicable disease from
. the following :
(1) e | (e gfem) .
(I) Chicken pox
(2) Tt (&) .
(2) Tuberculosis
3) WYHE
e i (3) Diabetes
(4) &M
(4) Cholera
(5) 3O AR <A1 =mEd
(5) Not attempted
TNAVH / F4 % w1 3 f1U T2me / SPACE FOR ROUGH WORK



23. :;‘:llfjaimaﬁ ¥ Y Twmiem-11 § feu T
HieH-I -1
(@) ™ (i) ST STEi
(b)  STEEH (i)  STSHRESH
(0 ¥ (ii) T o 1 REE
@ e (FAEE)  (v) ST o 9ER
wE faeq o1 9 SIS )
1) (@)-@), (b)-Gi), ()-v), (d)-(ii)
2)  (@-0), (b)-(), (c)-(ii), (d)-Gv)
@) (a)-(), (b)-(v), (0)-(), (d)-(iii)
@) (a)-(ii), (b)-(), (c)-(i), (d)-(iv)
(5) SR ¥ =Ed

24. ﬁtﬂﬁfﬁﬂﬂﬁﬁaﬁ?—mﬁ?ﬁm%?

(1) 3T

2 W=

(3) wfead EIECACIRCA
) rEfE

(5) ST & ERd

25. TS mﬁmﬁ@ﬂﬁ@mwﬁw%?

"//(1) W(W)@rﬁmﬁﬁq@@%@

(2) W faEE & FT
3 TH

« (4) T e |
(5) e & & =

26. wafe fFad T E?

(1) ISP
() ersn

o(3) Y
(4 four

23.

24.

25.

26.

Match structures given in Column-I with
functions given in Column-II.

Column-I Column-II

(a) Stomata (i)  Absorption of water

(b) Xylem (ii) Transpiration
(c) Root hairs (iii) Transport of food
(d) Phloem (iv) Transport of water

Choose the correct option.

(1) (2)-(), (b)), (c)-(iv), (d)-()
2 (@)-(), (b)-(i), (c)-(i), (d)-(v)
@) (a)-(), (b)-(iv), ()-(), (@)-(i)
@) (a)-(i), (b)-G0), (©)-(iii), (d)-(v)
(5) Not attempted

Which of the following is an antibiotic ?

(1)  Alcohol
(2) Yeast
(3) Sodium bicarbonate
(4) Streptomycin
' (5) Not attempted

The dough of bread rises because of :

(1) Growth of yeast cells
(2) Fine grinding

3) Kneading

(4) Salting

(5) Not attempted

Malaria is caused by :

(1) Fungi

(2) Protozoa

(3) Bacteria

4) Virus

(5) Not attempted
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27. frefafes § ¥ 99 @ g o JRm 7 27. Which one of the following does not belop
the group ? B
(1) =6 Yak
1
(2) s :2)) Ma untain goat
o
3 .
(3) few 33311 (Fh ‘@Tq—g) (3) Snow leopard
e (4) fem . (4 Deer
(5) ST I = (5) Not attempted
28. fefar 'ii'ﬁf?‘l’ﬂ Ea% 28. Match the following :
() II (aref ) I (Objects) II (Materials)
(@ S _ i~ e (a) Shoes (i)  Paper
b T o i) vem (b) Table (ii) ~ Steel
(c) w = i) =Her (c) Notebook (iii) Leather
d frem k\\(iv) SCocil (d Tumbler (iv) Wood
& ey =1 999 aﬂﬁq | Choose the correct option.
? (1) (a)-Gi), (b)-(v), (0)-(), (d)-(i) (1) (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
@ (@)-(v), (b)-(i), (o)-(ii), (d)-(i) (@) (a)-(v), (b)-(ii), (c)-(iii), (d)-(i)
S; :a;-ﬁ),(g:)-((i)), (€)-(@v), (d)-(ii) (3)  (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
a)-(u1), (b)-(iii), (c)-(i), (d)-(iv) (4)  (2)-(i), (b)-(iii), (c)-(i), (d)-(iv)
(5) SR &l < = (5) Not attempted
29. SM___ e Fifw I8 Had wiE @ | 29. Tiger is a because it only eats
(1) Tﬁf'é'fﬁ meat.
) s (1) Omnivore
3) ] (2) Cattle
. @) R (3) Herbivore
S 3w 4) Carnivore
(5)  Not attempted
\40. <o et e @ Bt 1S ¥4 w1 eI ¥ A T
¥ fem ¥ 3 geifas 30. When a white light passes through a prism, a
@- aeH |3@|j| IR spectrum is observed. Which colour of light
S BT R 7 bends most ?
(1) en (1) Blue
o (2) ST (2) Violet
) il (4) Yellow
(5) TN I8} &1 9T (5) Not attempted
TNAVH / F4 % w1ef 3 fore Termer / SPACE FOFI ROUGH WOW&_ Page 8
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s Mﬁ’;}qﬁ’aﬂ‘cﬁ IR TAME | Bﬁé;am i E‘%\, 31. Kunal walks 90 metres towards East. From
60 e =aeAd! %I . HEWETQ there he walks 60 metres back towards West.
T 40 . e T 3rifass fag 4 Then he turns right and walks 40 metres.
et g 7o fem g 22 How far and in which direction is he from his
starting point ?
50 e, SW-T4
41 U (1) 50 metres, North-East
(2) 60 ’ (2) 60 metres, East
(3) 30 HE, 3 (3) 30 metres, North
(4) 40 e, I-9f=m (4) 40 metres, North-West
5 IR T o1 4R (5) Not attempted
- { ' 'y 32. Ch i ~ i
g 0T T T TR T2 ST | gre reraten b the same way as in the gven
3 f U T - 4 § .
pair of words.
farfed : Sfaanfed Bachelor : Spinster
(1) AgAfEt : S (1) Nun : Sister
2) 3u-foreren : freren (2)  Tutor : Teacher
(3) Hfgen : 3ira (3) Lady: Woman
) He e g) Horse : Mare
) Not attempted
(5) I TR A AR =
. ] 33. A set of English letters is given below in a
33. jﬁ%ﬂﬁ%ﬁ&@%ﬂ{gaﬁ 3reHafeyd %A H e mn jumbled order. Select the combination of
g1 demell & 39 GANH & 999 9L N 9e SHER numbt.ers so that the let'ters arranged
] 71 SHfEHd FHE T T el vk = | :’C”imgly :1“ folrm a meaningful word.
0] C
E L P I O C
1 2 3 4 5 6
1 2 3 4 S 6
1) 3,572,641 pobclE (- 3,5,2,6,4,1
@ 3,4,5,2,6,1 ProL C& (@ '3,4,526,1
B 2,1,54,36 L ECIPC () 2,1,5,4,3,6
o 352461 PpPo)|CE 4 3,524,6,1
(5) IR 1 9Rd (5) Not attempted
3 16 ¢ L ,
4. T fifyaq gesmn § PHYSICS’ 1 RIAUKEU | 34 glﬂfteiega}gA?;gJérgua% ‘gI;IYSICS’ is
) 1 - How OLOGY’ be
e < &, @ BlOLOGY’ ohi et Feum # k2l written in that code ?
ferat < 2 o (1] DKQOQUA
1) DKQOQUA pe (2) DKQPQJB
(2)  DKQPQUB
5 DKoMOB (3) DKQMQIB
(4) DKQNQIA
®4) DKON
QNQIA
(5) Not attempted
O 3T & wmed
T
NAVH /Fa = B 5 feTu 2amel / SPACE FOR ROUGH WORK Page 9
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35. ﬁﬁﬂﬁﬁﬁﬁ‘?ﬂqﬁmﬁﬁﬂll "\}\%
4, 27,163,125,36, ? 64,729 41:(7/
(1) 34 .

e(2 512 9{(7

3 121
(4 216
(5) S TE < AR

A, B, C, D, E @1 F S ! 3R g ¥ T ufe §
Ge ¥, Afer v R s fr s wm H 8| £ ik
PAAR TR A iR B fFmR®me ¢, A%
F I AT R B F I CE SR AT @ R ?

35.

36.

Find the missing term in the series.

4,27, 16, 125,36, 2 64,729

(1) 343
2) 512
3) 121
@) 216

(5) Not attempted

A, B, C, D, E and F are standing in a row facing
North not necessarily in the same order. F’
and ‘F’ are in the centre, and ‘A’ and ‘B’ are at
the ends. ‘C’is standing on the immediate
left of ‘A’. Who is standing on the immediate

A Ao e right of B’ ?
@ E
) C
@) F & Bh 9 (2’ .
@ D ‘3’ -
5) ST & :4; :

(5) Not attempted

37. TH YRER ¥ 99§ P, )Q’, R’, ‘S’ AN T &1 P’
IR R ME-ME R T, Q FIAEY/AM R S, T
ERCE | Tl Q,RATER P, AfFayEr | 37. P, Q, R, ‘S’and T are five persons of a family.
Tsifug &2 ‘P’ and R’ are brothers. ‘T’ is uncle of ‘Q’. ‘S’
) - is the son of T’. ‘Q’is the sister of ‘R’. How is
(1) ==9U/997 9% 7(_ ‘P’ related to ‘S’ ?
d F‘ f (2) Uncle
3
) foran (3) Brother
. (4) Father
(5) ST E M 9w
(5) Not attempted
38. fawq &1 9 wifaQ| ‘
38. Find the odd one out.
(1) ™
(1) Eraser
¢ (2 T&E& (2) Book
(3) INE (3) Pencil
(4) <A 4) Pen
(5) SWIISA=E (5) Not attempted

TNAVH / F4 I6 B 3 Te10 TTel / SPACE FOR ROUGH WORK Page 10



" mmﬁﬁwm@ﬁamﬁnﬁi&gﬁé
ﬁﬁgﬁaﬂﬁ?m@ﬁﬁﬁvﬁaﬁﬁ:ﬁqmm
mmmm%mmmﬁm@ﬁm
3 frcTd € 7
FU: EENSRISIE RS

O 39 AT T
) free 13RI fepera #
o) T R 1SR A 1 e ¥
,(3) e freRd 1 e §
(4) Faat TR 11 b 1
5) I TG <A =

o T T9ER ¥ WRY B1 9 fRedt 30 foq & w ®
=% T, A AR T2 eft Woan 1 s @

F 3w ¥ fora wrifeag §2
1) 24 fA
v 22fE

3) 23f

3 21fA

5 IR Rl <A AEd

41. 137 63,000 TN F T AR AR fFar1 8
T 99 2 1,08,000 N T B 7 AR H ALK
=5 ofz o ¥ sid § @ aUeR-aTeR 5 @, @

7% G % 91K B 3 WERR i 2
£(1) 5

2 6

3) 3

4 4

(5) = Ef & =ed

2. 728 g0 yfr fr . 9T @i € 22.80 W fRI A
A fEm Wﬁﬁaﬁm‘fmﬁmmw
225.20 wfa fa.o. &1 A ?

() 3:4

(2) 5:3

t(3) lu: 8

4) 2:3

(5) 3 5 &1 =red
™NAVH / Fa

39.

41.

42.

70 @14 & fere Tae | SPACE FOR ROUGH WORK

Two statements are given, followed by two
conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follows/follow from the given statements ?
Statements : Some flowers are roses.
Some roses are red.

Conclusions: L All roses are flowers.

. Some flowers are red.
(1) Both conclusions Iand II follow.
(2) Neither conclusion I nor II follows.
(3)  Only conclusion I follows.
(4)  Only conclusion II follows.
(5) Not attempted

If every second, fourth Saturdays and all
Sundays are holidays in a 30 days month
beginning on Sunday, then how many
working days are there in that month ?

(1) 24days
(2) 22days
(3) 23days
4) 21ldays

(5) Not attempted

A started a business with ¥ 63,000 and is
joined afterwards by B with ¥ 1,08,000. After
how many months did B join if the profits at
the end of the year are divided equally ?

(1) 5

2 6
3) 3
“ 4

(5) Not attempted

In what ratio, rice at ¥ 28.80 per kg and rice
at T 22.80 per kg be mixed to get a mixture
worth ¥ 25.20 per kg ?

(1) 3:4
(2) 5:3
(3) 1:3
4) 2:3

(5) Not attempted

Page 11



43. T T H, 9T #I e AR SRl %t ge@m § | 43 Ina school, the ratio of the Number gf 1
. ’ Yyg

< oo the number of girls is 4 : 5, When 100
415 1 A &1 99 100 m RS m%ﬁ[ g leave the school, the ratio becomes 6: ;'J S:,{:r s
€ ST 6+ 7 T T T el F fefet B B2 many boys are there in the school » "
(1) 1200 (1) 1200

+(2) 1208 2) 1000
3) 180
- 3
(5) SWAEI < (4)
(5)  Not attempted

44. A 14 x 627 + 1089 = x3 + 141 & A x FI
EIEE 44. If 14 x 627 + J1089 = x> + 141, then the
(1) 25 value of xis :

W(2) 5 (1) 25
3) 125 2 s
4) 55 3) 125
(5) SWAH T EEd 4  5¢5
45. TS Al U &1 3 15&.’?ﬁ{03¥{ﬂ3ﬁ1%| ITF (5) Not attempted

e 3eft = =1 U e 3§ 20 T S e o

45. A man can do a job in 15 days. His father
REECPEREE R U T o I R e — takes 20 days and his son finishes it in
A, 3 HE F el A g g9 9 2 25 d}ay;. How long will they take to complete
the job if they all work together ?
. g)) TF:: 6.4 T T (1)  approximately 6.4 days
2 7 days
3) 6 f7 & =u ze 4 53; less };han 6 days
4 "@ 6 T = (4) exactly 6 days
(5) SWAE < =R (5) Not attempted
46. T fafim Wemsll 1 L.C.M. 120 %1 =1 Gemsii | 46. The L.C.M. of three different numbers is 120.
4 Q4 959 9 9= 34 A9 Sl 1 H.C.F. E | \[-);”(lji;‘ho()f the following cannot be their
e 2 y e (1) 24
. g; gg ' 2) 35
(3) 8 B 8
4 12 (4) 12
(5) WA e 9 )] Not attempted
47. T& ATA H &A% 460 o ot § | afe 3! @arE, | 47. The e;lre.a of? rectangle is 460 sq.m. Ift}::ne
TEH! HSE ¥ 159 ferk ¢, @ A § § eEd w Sﬁi[h ;fnéggotiogugivﬁgt?: ifi?iiam of
Hﬁgﬁ HEAHR? the rectangle ?
(1) 34.5HR G e (1) 34.5 metres
2) 20 Hrex (2) 20 metres
(3) 15T (s s (3) 15 metres
@) 26 | T . (4) 26 metres
(5) v T Jesc ! S (5) Not attempted

12
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49.

50.

51.

TNAVH / F4

0o (4)

s 4, 0, 3, 7 @ T FA 4-FF T9-J-791 7
FA-F-Bre g FA9: € (VAF 3% TF N &
T & ?) :

(1) 7403,3704

(2) 7430, 3047

(3) 4370, 4307

(4) 3740,3047

(5) I T & =
A FR F A H SFAM@2:3:4 21 HH AT
4 H, 39 FR gRI feIe T TRl § S €
(1) 4:3:6 Ny 3 2
2 6:4:3
3 2:3:4

4:3:2
(5) ST N =Ed
50 gemel &1 oivaa 38 &1 afg @ wemsti 45 a
55 F) 521 fean ST aren w= gEmsd & 3Ed =
?m?
(1) 37.5
,(2)  37.52
(3) 36.5
@) 37
(5) I T < =ed
zs,oooﬁmm%aﬁmmmwmﬁ

aﬁﬁﬁ?g,zm‘aawﬁ,mmuﬁrmwhﬁa
AMR?

48.

49.

51.

The greatest 4-digit and the smallest 4-digit
numbers formed by the digits 4, 0, 3. 7 (each
digit used only once) are respectively :

(1) 7403,3704
(2) 7430, 3047
(3) 4370, 4307
(4) 3740, 3047
(5) Not attempted

The speeds of three cars are in the ratio
2.3 :4. The ratio between the time taken by
these cars to cover the same distance is :

(1) 4:3:6
(20 6:4:3
3 2:3:4
4 4:3:2

(5) Not attempted

The average of 50 numbers is 38. If two
numbers 45 and 55 are excluded, then what
will be the average of the remaining

numbers ?
(1) 37.5

(2) 37.52
(3)  36.5

4) 37

(5) = Not attempted

In how many years will a sum of ¥ 8,000 at
10% per annum compound interest,
compounded semi-annually become ¥ 9,261 ?

(1) Q%aﬁ (1) 2% years
2 l EL] 2—1—
(2) 5 2) 5 vears
(3) 1 l ¥ 1 —1—
3 3) 3 years
4) 11 Y !
2 4) 15 years
(5) WAL T AR (5) Not attempted
Page 13
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52. W A UF TH e T 4,700 ¥ wier 3w o
A W X 800 T fFu1 Az 5% 3@ e =

5,800 H 99 & 35 oY YfqvE ¥
(1) 10%
2)  12%
40
(3) 47 Yo
5 o)
@ 5%
(5) IR RS

53. A (a+b)F10% =(a—b) F150%, Ma:bd:

(1) 2:3
2) 3:2
3) 1:2
4 5:2
(5) I TR < AR

54. R 551 3 A, qeon S 5 A, A uig F T
3 9 H fyeere v s e A vl @5
9 1 A, qun ameR e 1 fa ¥ 59 weR

52.

53.

e

Harish bought an old Scooter for ¥ 4 70 -
spent ¥ 800 on its repairs. If he sells 4
Scooter for ¥ 5,800, his gain percent is -

(1) 10%
(2)  12%
(3) 4;-%
S
S—%
(4) 17

(5)  Not attempted

If 10% of (a+b)=50% of (a—b), thena : bis :
(1) 2:3

(2) 3:2
3 1:2
4 5:2

(5)  Not attempted

A solid metallic cylinder of base radius 3 cm
and height 5 cm is melted to form cones, each
of height 1 cm and base radius 1 mm. The

e 3@31}[ et . number of such cones is :
(1) 4500 (1) 4500
(2) 13500 (2) 13500
(3) - 450 (3) 450
(4) 1350 4) 1350
(5) W R & = (5) Not attempted
55. A HE W 10 o § A B ST 8, Tl | A 55. Ifa sum becomes its double in 10 years, then
H affe e R . the annual rate of simple interest is :
(1) 10% (1) 10%
(2) 20% (2) 20%
3) 8% 3) 8%
§) T (5) Not attempted
TNAVH / F4 % P I foTu Zarmer /| SPACE FOR ROUGH WORK Page 14
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oose the alternative which best eXpresse
y - S

- f«, piven sentence into direct Speech. 61. Select the alternative which best describes
e told the })in;- n(})}t to sit there. the underlined idiomatic expression.
) He said to the boy, I?ldn’t Sit there ” You may rush from pillar to post, but vou
) He said to the boy, “Dont sit here ” ‘
| He said to the boy, “Didn’t sit he " Stfind no chance of getting what you want
o aid tothe B, & 1S re. without hard work.
4) Hesa € boy, “Don't sit there ” (1
‘ . . ) go to all post boxes and post offices
5) Not attempted
( (2)  go to many offices and post letters
¢(3)  be very busy
pick out the correctly spelt worg (4)  rush in all directions and suffer much
(1) tempastuous h
{ arassment
() tempestus (5)  Not attempted
,(3) tampestuous
(4) tempestuous 62. Pick out the antonym of the underlined word
(5) Not attempted in the following sentence.
‘ : He was afraid of losing the match.
g¢. Fill in the blank with correct form of Verb. «(1) shaken
lime and tide for none. #(2) confident
m waits (3)  hesitant
*(2) waiting (4)  nervous
v () wait (5)  Not attempted
4)  waited
(o)  Not attempted 63. Find out the synonym of ‘proclaim’.
¢ (1) declare
%. Choose the correct alternative to improve the < (2) license
underlined part of the following sentence. If (3)  progress
no improvement is required, your answer is - #m{4) advance
2). (5)  Not attempted
You will face many defeats in life but never _ _
) 64. Choose the correct passive voice form of the
let themselves be defeated . following sentence.
*(1)  yourself be defeating He was writing a book.
(2} No improvement @ (1)  He has written a book.
(3)  themself defeated (2) A book was being written by him.
(4)  vourself be defeated (3) A book is written by hlm.
()  Not attempted :451; 113 liootliewa;t:gmg written by me.
ot attem
8 p the sentence which has
a;ﬂ; out tlllfe 1;;art ?sf no error, your answer is | g5 Rearrange the following parts of a sentence
) S HAEE labelled as PQRS to make a meaningful
' sentence.
The property / was divided / P - optimism is essential
(A) (B) Q - it is also the
R - foundation of true progress
dmong the two brothers. S - to achievement and
(C) «(1) PSQR
‘0 () (2) RQSP
2} No error (3) QSRP
¥ (A (4) PQRS
4 @) (5) Not attempted
©)  Not attempted
pte — RK Page 15
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‘e gen' AT & forg waifed STH TH I §

/66. ‘¥’ Yo | T aen gaifus TR I © - | 71.
(1) &b (1)
(2) WL ") :ﬂﬁ:
@) i Ej: .
) ” (5) SR <A T
(5) SR ARG <A1 ARd
72. fouu AR ¥ g fasea o faum fogl 1 waifis
67. I’ Ve 1 Halfud IR T e € A S A g 2
(1) e *(1) @,ﬁg@rﬁaﬂxﬁmﬂﬁwmn
@ (2) ook w37 HE T S 2
3) A @) FMARE LI
o4 4 TFITAMTA
(5) TR TR < AR (5) IR & A1 9wd
68, ‘e @ T TR EA R 73, ‘oTu WA H N ArEd Td €27 AT HE 36T E
(1) O HRE A
(1) I .
(2) HeY B F
2) =3
- »(3)  SUTo SR
) (4) FHHBHEHH
@) e (5) S TR <A 9@Ed
(5) I TG o 9w
74, Trefafed fea faswen & fra-fadmor w61 waim =&
£9. ‘faarea § aifife wéeed wm= & T 9 F LY,
(1) e 2 TS
(2) TE+3d (3) =
3) HE+IEE v (4) gW faarE
. (4) WEHIEE (5) SR I A
Bl AT = ed
SR 78, IR S ST S T 6 fag ! | SR
. : gaifess 3uged aref £ -
. g v ® ol o1 IS TG R 2
A0 ﬁqn: = (1) TAR o o & 3R g &1 = @ik
- =4 @) i e @ P & v g T @ T
(2) = (3) ST 3GHT BT & STE HT ST 1 Bl B
@ g v (4) TR &1 it afe o0 TeE O, g
~4)  FR ST
(5) I AR < wred (5) SR T =
TNAVH / F4 3% w1 3 fore 22Ime / SPACE FOR ROUGH WORK Page 16
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Wﬂﬁmmmmm%
% o T TG FAE?

ﬂ'?]"w
farart
(2) RIS
[\;i ﬁq—{m
(4 LESED
5 T < A

; Tjﬂﬁ‘ﬂﬁ'ﬁﬂhﬂﬁ@n@a@ﬁﬁ
frord ¥ 7

n feE
@ faart
) HHTd
V() IHed
(5) ST TR < AR

™. Td TERH 3 T8 M <a 3R T v fog F 1 afed
- FFE uH R iR 1857 # ST & Wy 7%
- fE

0w
0
o) e e
W s

! ) I 7 < =red

m Wﬁ@mmwm%aﬁmﬁ%?
1) e

f Q)
B) g
ST —
I a

W

LR

76.

77.

78.

79.

/ SPACE FOR ROUGH WORK

Which one of the following districts of Harvana
does not share border with Rajasthan ?

(1) Bhiwani

(2)  Mahendragarh
(3) Sirsa

(4)  Rohtak

(5)  Not attempted

Where is the most important Centre of
‘durrie’ making located in the State of
Haryana ?

(1)  Sirsa

(2) Bhiwani
(3)  Sonipat
(4) Panipat

(5)  Not attempted

Where did Rao Tularam, along with Rao Gopal
Dev and Rao Dhan Singh organise the Ahirs
and fought against the British in 1857 ?

(1) = Jhajjar

(2) Rohtak

(3)  Nasibpur fort
(4) Ambala

(5) Not attempted

The only surviving steam Loco Shed in India
isin :

(1)  Sonipat
(2) Rewari
(3) Panipat
(4) Ambala
(5) Notattempted

Page 17
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80. zframm d fama = 7w faatas v %7
(1) 11
(2) 12
3) 9
e (4) 10
(5) I E = AEA
81. fAeafafma Fuai v fa=nm #ifso
(a) B 3 7O ZTEr A AR A
(b)  ®fTATM A UEEw Tt 2R S
I Y QA FF T A FAGEH P
od (1) (a) N (b) ZAI
¢ (2) A (a) 3mAE (b)
(3) FAd (a)
(4) & (b)
(5) S AE =1 =
82. HEEN # 3fe | TAmn =1 vyra # -9 ™H
%2
o(1) 18
2) 19
(3) 16
@) 17
(5) I TE < AEd
83. Tmafafaa 4 | efeaon =1 Fran foen gz = &

fega 27

-

(1) Fo
(2) Fod
»(3) TTTT
. (4)  dEFE

(5) 3 FE 291 =R

| 80.

81.

82.

83.

How manv Lok Sabha constituencies are th,..
in Harvana ?

(1) 11

(2) 12
(3) 9
(4) 10

(5) Not attempted

Consider the following statements :
(a) Harvana has never won Ranji Trophy
(b) Haryana has won Irani Trophy once

Which of the above statement/s is/are
correct ?

(1) Both (a) and (b)
(2) Neither (a) nor (b)
(3) (a)only

(4)  (b)only

(5) Not attempted

In terms of population size, Haryana comes
at what rank in India ?

(1) 18
(2) 19
(3) 16
(4) 17

(5)  Not attempted

Which one of the following is the
northernmost district of Haryana ?

(1) Kurukshetra
(2) Kaithal

(3) Yamunanagar
(4) Panchkula

(5) Not attempted

TNAVH /F4
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. erfrfaa FOA T fasm Fifa
LU a

) m‘quimvﬁrjﬁgwm' —

(o gfrarm ¥ wta qfers 43 8
grfa § A FH T/ A F TR
L) (a) 7 (b) F

@ A (a) AAF (1)

(3 FA9 (a)

(4) %A (b)

(5) I AR < AEd

g5, @ e & Yadr sin eframm @ et &

w4 S A B 2

(1) e

(2) TmiEs A

$3) T o T
(4) dfed wiRE

(5) IR TEl <A =@

%. T g 3 W S H aHET wel

I wET € ?
#1) fyfafe=
2) @
@) wgfeA
(4) IRel Hel
(5) SR @l & =ed

. ?
. MWWWWWW%‘

(1)
@)
" (3)
(4)

p—
Mavy; Fa zw o 1T

Fou

A
iSs
e

TR SN S S N

| 84,

(a)

(b)

(1)
(2)
3)
(4)
(5)

(1)
(2)
(3)
(4)
(5)

Consider the following statements :

A Police Range in Harvana is headed by
an officer not below the rank of
Additional Director General.

There are five Police Ranges in
Harvana.

Which of the above statement/s is/are

correct ?

(1) Both (a) and (b)
(2)  Neither (a) nor (b)
(3) (a)onlv

(4)  (b)only

(5)  Not attempted

85. Who is known as the Shakespeare of Haryvana
and Survakavi of Haryana ?

Banshilal

Ramsingh Nai

Dada Lakhmi Chand
Pt. Mangeram

Not attempted

86. Mata Mansa Devi temple is home to which
form of contemporary art of Haryana ?

Bhiti Chitra
Dhokra
Pattachitra
Worli Art

Not attempted

87. Where is the Heritage Transport Museum

situated ?
(1)  Kurukshetra
(2) Karnal
(3) Rewari
(4) Gurugram
(5) Not attempted
E FOR ROUGH WORK Page 19
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88. efamn # foy a4 ' ey s am 353 e

& T ot ?
(1) 2011-12
«(2) 2019-20
3) 2015-16
(4) 2017-18
(5) I TE < =R
89. e # ufq = ‘e S weewa'! FE HAA
TR ?
(1) TSR
(2) FRHR
v (3)  FEA
4) HqEPTS
(5) SR A =R
90. = ¥ fr=fafed foenfsal & @ feaa 2020 4
TSR S < Wl T JEhr Sl o1 ?
(1)  <ra1 Hfctsh
(2) HRIE TR
@) Too= s
e (4) TawwrmE
(5) UG <Al =R
91. TREN T Heifteh T dTell Yel AT & 7
e (1) HITER
(2) U
(3) Udk
(4) TTEUH

(5) UG A1 AR
92. N =T Fal (Ud 7 ?

(1) wIeER
v (2) AAA

(3) HoEdA

(4) U™

(5) S AS < 9@mwd

2o T # TRt (ST) U 9ETEd € 2
« (1) 6000 - 6500

(2) 6500 | e

(3) 5000 - 5500

(4) 5500 - 6000

(5) SO A A1 =

93.

88.

89.

90.

91.

92.

93.

In which year was “Deenbandhu Haryay,
Gram Uday Yojana” launched in Haryana »

(1)
(2)
(3)
(4)
(5)

Where in Haryana ‘Geeta Jayanti Mahotsay

2011-12
2019 - 20
2015-16
2017 -18
Not attempted

is celebrated every year ?

(1)
(2)
(3)
(4)
)

Pinjore
Sultanpur
Kurukshetra
Surajkund
Not attempted

Who among the following players from Haryana
won Major Dhyan Chand Khel Ratna Awarg
20207?

(1)
(2)
(3)
(4)
(5)

Deepa Malik
Sushil Kumar
Vijender Singh
Vinesh Phogat
Not attempted

|
|

Which is the most populous city of Haryana?

(1)
(2)
(3)
(4)
(5)

Faridabad
Panchkula
Rohtak
Gurugram
Not attempted

Where is Chor Gumbad situated ?

(1)
()
(3)
(4)
()

Faridabad
Narnaul
Palwal
Gurugram
Not attempted

How many (approximately) Village Panchayats
does Haryana State have ?

(1)
(2)
(3)
(4)
(5)

6000 - 6500
more than 6500
5000 - 5500
5500 - 6000

Not attempted




o4, et - 1H fau o gurfeh awmm H get - 1 A

gfmfea faaii & w9 gafaa sifau
el -1 et - 10
(@) WUTER (i) g

) gmm\\ (i) = Tl

© N wwE
@ v

T feT TT e 1 IwT F g HE IR A

» (1) (a)-(iv), (b)-(iii), (c)-(if), (d)-(i)
(2)  (a)-(i11), (b)-(iv), (c)-(ii), (d)-(i)
(3)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(4)  (a)-(1), (b)-(v), (c)-(i), (d)-(ii)
(5) W TR <A =R

95. e & &g foat # faoan sia fo €2

(1) O
» 2 Uew
(3) e
(4)  3FEmEl
(5) I @I o =ed
96. TFHH T el 3 (Sugedt) & sk # ffafad
M'—hmﬁaﬂﬁﬁm
(a)  FEEoT 1 UGS, os o Siaeid & %1
]
(b) mwmmﬁ%mﬁ
FITI
frafafad § @ FH-9/3 S AR §/8 7

(1) (a) 3 (b) A
,(2) A (a) FRAE (b)

(3) %ad (a)
(4) &9 (b)
(5) IR ET < 9Rd

94. Correctly match the Administrative Divisions

95.

96.

in the List - I with the Districts included in
the List - II.

List - I List - II
(a) Faridabad (1) Panipat
(b)  Gurugram (i)  Charkhi Dadri
(c) Rohtak (ili) Mahendragarh
(d  Karnal (iv) Nuh

Select the correct answer using the code
given below :

(1) (a)-(iv), (b)-(iii), (c)-(i1), (d)-()
(2)  (a)-(ii), (b)-(iv), (©)-(ii), (d)-()
(B)  (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(4)  (a)-(ii), (b)-(iv), (c)-(), (d)-(i)
(5) Not attempted

In which district of Haryana is Tilyar Lake
located ?

(1) Panipat
(2) Rohtak
(3) Kaithal
(4)  Ambala

(5)  Not attempted

Consider the following statements about Gross
State Domestic Product (GSDP) :

(@)  GSDP of Haryana is less than that of
Punjab.

(b) GSDP of Haryana is less than that of
Rajasthan.

Which of the above statement/s is/are
correct ?

(1)  Both (a) and (b)

(2)  Neither (a) nor (b)
(3)  (a) only

(4)  (b)only

(5) Not attempted
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97. U ®1 qAted, fred efamon & ol = & w9
Tt fovan, forg ad gam 2

(1) 1965
¢ (2) 1966
3) 1961
(4) 1962
(5) ST TE AT =R

98. UET W1 Y[oeh, TWeTe L 3R WH T STHEH
Fel feem 2

(1) few
(2) HieER
e (3) TN
@) Ued=w
(5) SR TE < =ed

99, TFRATN &1 T-T Uaht Fr 2 ?

(1) YR S=re
(2) TenrerEt d@ma
v (3) M FHEfar
4) =9 (R FHfaa)
(5) W TE <A =

100. T H Y& &1 T HiAEl Ao gRamn § wEa
fafaitrtor oiR STt weeror ot = 2t £ 2

(1) < afem aafiEm
(2)  WYH °3 FEE A
(3)  wfd g3 1fersh e
e (4)
(5) I & <M =

-00o0-

97. The reorganisation of Punjab that establishe,
Haryana as a full-fledged State, took place ;
which year ?

(1) 1965
(2) 1966
(3) 1961
(4) 1962

(5) Not attempted

98. Where is the National Academy of Custom
Indirect Taxes and Narcotics located ?

(1) Hissar

(2) Faridabad

(3) Panchkula

(4) Rohtak

(5) Not attempted

99. Which is the State Bird of Haryana ?
(1) Indian Bustard
(2) Himalayan Monal
(3)  Black Francolin
(4)  Great Hornbill
(5)  Not attempted

100. Which scheme launched recently focusses ot

crop diversification and water conservation it
Haryana ?

(1)  Jal Shakti Abhiyan

(2)  Pradhan Mantri Samman Yojana
(3)  Per Drop More Crop

(4) Mera Pani Meri Virasat

(5)  Not attempted

-00o0-
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